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Psych 333 Spring 2008, I nstructor Boynton, Final Exam

Multiple Choice (50 questions, 1 point each)
Identify the letter of the choice that best completes the statement or answer s the question.

1. A grapheme-color synesthete is likely td&ger than ‘normal’ subjects at which task?
a. discriminating auditory frequencies
b. detecting a triangle of 3's amongst a backgraafrisis
c. determining the amount of salt to add to soup
d. naming the color of ink that the number ‘3’ isnped with

2. Making a saccade across a stationary sredeces
a. inverse motion. c. amotion aftereffect.
b. perceived motion. d. retinal motion.
3. The is primarily responsibletifigr perception fine details.
a. Ruffini cylinder (SA2) c. Meissner corpuscle (RA1)
b. Merkle receptor (SAL) d. Pacianian corpuscle (RA2)
4. Which has been associated with empathignauand motor development?
a. mirror neurons c. the homunculus
b. the organ of corti d. the PPA
5. For which sense is it hardest for reseasdiogpresent controlled stimuli?
a. touch c. smell
b. hearing d. sight

6. About how many types of human olfactoryepors are there?

a. 350 c. 6
b. 12,000 d. 2,000,000
7. The primary visual cortex in the left hgphisre receives input from
a. botheyes c. theright eye only
b. the right LGN d. the left eye only
8. Carpal tunnel syndrome is an example of
a. nociceptive pain c. ordinary pain
b. neuropathic pain d. inflammatory pain
9. The smallest difference between two stittali can be reliably be detected is called the
a. difference threshold c. absolute threshold
b. level of analysis d. recognition threshold

10. The Hermann grid illusion and Mach banmdsath explained by

a. simultaneous contrast c. selective adaptation
b. center-surround lateral inhibition d. contrast shads



11.

12.

13.

14,

15.

16.

17.

18.

19.

20.

Which sense has neurons that code spasaion by their pattern of firing?

a. vision c. smell

b. hearing d. touch

Which sense seems to have the most ambplasticity in its primary cortical representatid

a. hearing c. smell

b. touch d. sight

The McGurk effect demonstrates that vistfarmation influences speech perception. Thansxample of:
a. crossmodal neural plasticity c. multimodal peraapti

b. categorical perception d. shadowing

The difficulty of reading under dim ligtanditions can be explained by
a. theincreased acuity of cones under low light@mns.
b. the fact that rod functioning predominates dudagk adaptation, therefore poor acuity.
c. the fact that cone functioning predominates dudark adaptation, therefore poor
acuity.
d. the increased sensitivity of cones under lowtlgginditions.

Animals that have a keen sense of siadligimportant to their survival are called:

a. macrosmatic C. anosmic
b. microsmatic d. smellomatic
Infants/children lose the ability to digtiish between all speech sounds after about:
a. 1 month c. lyear
b. 3years d. 6years
Ramachandran used a behavioral experimpatients missing a to suggest thafidtd’s
somatosensory map had the head representatioreghsich.
a. hand c. foot
b. homunculus d. head
In the movie Spiderman, there’s a scerexevilary Jane is being mugged by four men. Spidan-Mrows

two of the men into two windows behind Mary Jankeeil the camera goes back to Spider-Man beating up
the other two guys. When the camera goes back ty 8&me the two windows are intact. This is an gpam
of what is called in the movie business as ‘badinaity’. The fact that we typically don’t notidlis sort of
mistake is what perceptual researchers call

a. anosagnosia c. the aperture problem
b. the binding problem d. change blindness
The phonemes /ta/ and /da/ are distingdibly differences in:

a. formant transition c. formants

b. coarticulation d. voice onset time

Auditory space is typically defined by efhcoordinate system:
a. pitch, yaw and roll c. distance, frequency, andatien
b. azimuth, elevation and distance d. azimuth, hotadpand vertical



21. A patient who has difficulty understandspgech most likely has suffered damage to:
a. Wernicke's area c. the occipital lobe
b. Brodman’s area d. Broca’s area
22. can affect behavior even ththey are typically not consciously perceived.
a. paradelia c. pheromones
b. parents d. phonemes
23. Simons and Chabris showed a video of stagissing a basketball and asked viewers to ¢mmmany

24,

25.

26.

27.

28.

29.

passes were made. What event did around halkofigwers fail to notice?
a. the basketball disappearing and then reappearing.

b. aperson in a gorilla suit walking in and outtod scene

c. the color of the doorway in the hallway changing

d. pants falling down on one of the students.

As you vary the delay between a click ognffom a lead speaker and a lag speaker, diffgrnepts are
experienced. These include:
(1) The sound comes from the lead speaker, butlyear an echo from the lag speaker.
(2) The sound comes from a point in the middle leetwthe lead and lag speaker.
(3) The sound comes from a point that is biasedtdwhe lead speaker.
(4) The sound comes from the lead speaker only.
Which is the order that you experience if you gadijuincrease the delay from zero to longer than 5
milliseconds?

a. 43,21
b. 2,3,4,1
c. 1,2,3,4
d 3,412

Which of the following is most difficuth program a computer to do?

a. calculate pi out to 10,000 decimal places c. ptagmetitive chess
b. write bad poetry d. recognize a face

The waterfall illusion and face after-eféeare both explained by

a. neural plasticity c. neural adaptation
b. the cortical magnification factor d. selective iegr
If Mike Tyson bites off your pinna, yought find it more difficult to:
a. discriminate fine differences in pitch c. hear higlguency tones.

b. judge the elevation of a sound source. d. judgeéatation on the azimuth of a
sound source.

During the refractory period, a neuron

a. fires at above its baseline rate c. cannot fire.

b. fires at its baseline rate d. fires just belovwbiseline rate
The is primarily responsiblettierperception of vibration.

a. Pacianian corpuscle (RA2) c. Ruffini cylinder (SA2)

b. Merkle receptor (SA1) d. Meissner corpuscle (RA1)



30.

31.

32.

33.

34.

35.

36.

37.

38.

In theatrical lighting, red green and luerhead lights are often used in combinatiornrtalpce a variety of
colors for illuminating a stage. This is an exaenpl

a. additive color mixing Cc. magic

b. color blindness d. subtractive color mixing
Which sense has the most direct connettiolemory and emotion?

a. sight c. hearing

b. smell d. touch

The phonemic restoration effect refers to:
a. the unconscious replacement of missing phonemaséntence
b. creating a meaningful word by adding a new phantra non-word
c. the ability to perceive meaningful phonemes iis@o
d. learning to distinguish new phonemes when legraiforeign language

Which of the following is NOT basic quality of ta&

a. sour C. unagi
b. umami d. Dbitter

The most useful visual input is typically light, while the most useful auditoryunfs typically

_______sound.
a. ambient, high frequency c. ultraviolet, annoying
b. reflected, direct d. direct, reflected
If you place a gray square on a red backgt, the gray square will tend to look
a. red Cc. green
b. blue d. gray
When judging the roughness of a surfamar, yomatosensory system makes use of bygueasaning
your fingers over it, and cues by layingrylwand on it.
a. physical, haptic c. spatial, temporal
b. haptic, physical d. temporal, spatial

When played on a piano, the measures shelow from J. S. Bach’s Chorale Preludelesus Christus
unser Heiland tend to sound like two separate musical streaniss i$ an example of grouping by:
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a. similarity of timbre c. similarity of location
b. similarity of pitch d. proximity intime
Crossed and uncrossed disparity pointdigiged by the

a. olfactometer c. occluder

b. horopter d. helicopter



39.

40.

41.

42.

43.

44,

45,

46.

47.

48.

Humans have olfactory receptargpaced to dogs, and a single human olfactory recept
sensitive to/than a dog olfactory receptor.

a. more equally c. fewer, less
b. more, less d. fewer, equally

After suffering damage to area MST, patellV. sees the whole world move every time he mdwe eyes.
R.W. is suffering from an inability to generate

a. image movement signals c. corollary discharge &gna
b. turn signals d. motor signals
The homunculus map shows that some batly lpave a disproportionately large area of S1 gelto them.
This is most analogous to in vision.
a. ocular dominance c. cortical magnification
b. distributed coding d. specificity coding
Pain caused by immersing your hand in walér is an example of
a. inflammatory pain C. nociceptive pain
b. neuropathic pain d. ordinary pain
In humans, which pair of senses haverdifteaeceptors that aer excited by different spidtations?
a. taste and sight
b. touch and hearing
c. hearing and sight
d. sight and touch
The moon just obscures the sun durindea solipse because the moon and the sun havelyotinghsame
a. brightness. c. visual angle.
b. horopter. d. illusion.
The ‘cone of confusion’ refers to ambigwit sound localization with respect to which cue?
a. head-related transfer function c. binocular digpari
b. motion parallax d. ITD
Smells and color are both representdueitain through coding.
a. specificity C. somatosensory
b. multimodal d. distributed
Which visual depth cue tells you the aldsallistance of an object, rather just its distaetative to other

objects in the scene?

a. relative size c. atmospheric perspective
b. accommodation d. occlusion
Visual attention can modulate neural reses in all of the following areas EXCEPT:
a. areaMT c. retinal ganglia
b. area MST d. primary visual cortex (V1)



49. The fovea is to vision as the to teuch.
a. pinky finger (D4) c. index finger (D1)
b. middle finger (D2) d. ring finger (D3)

50. The easily detected curved contour ifithee below illustrates which Gestalt law?
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a. proximity c. familiarity
b. good continuation d. common fate

Short Answer (5 questions, 3 points each)

51. Why does it make more sense to call coneetd§s M and L’ rather than their orignal namesiéhlgreen
and ‘red’?



52. Name four depth cues illustrated in the sderlew and one cue that can't be used.

53. Familiar size is a cue for visual depth petioep Name an example of how familiarity couldaalelp
determine the distance of an auditory sound.



54. Explain why it is difficult to read the screen your laptop while viewing it outside on onetloé 71 sunny
days that Seattle receives during the average year?



55. Some somatosensory neurons have an excitatgr with an inhibitory surround receptive fieldse what
you know about the visual system to describe hasvafiects the way these somatosensory neuronendsp
as a function of the size of the stimulated area.



Psych 333 Spring 2008, I nstructor Boynton, Final Exam
Answer Section

MULTIPLE CHOICE

ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:
ANS:

©oNoOkRNPE

WWWWWWWWWNNNNNRNNRNNNRRERRERRERRRRR
NPT WNPOOONDDTORWNEOOONDTOMWDNREO

w
©
W WoO0OWO>PO®TI>I>TOO0OOWWTO>POOCO>PO>POTOTTEEm>PO>>OP>NOOD



40. ANS: C
41. ANS: C
42. ANS: C
43. ANS: D
44. ANS: C
45. ANS: D
46. ANS: D
47. ANS: B
48. ANS: C
49. ANS: C
50. ANS: B
SHORT ANSWER
51. ANS:

52.

53.

The perception of a given hue, such as red, isle@rmined only by the response of a single comgs¢lkuch
as the L cone class. Instead, the perception®bleaurs through a distributed representation efdtcone
classes - specifically through the excitatory arfdhitory connections described by opponent prangss
theory. So although the wavelengths for maximunsgiwity for the S, M and L cones fall on the sfram
that appear blue, green and red, it is misleadirgall these ‘blue’, ‘green’ and ‘red’ cones beaatese
cone classes do not lead directly to these thresatiens.
ANS:
Valid cues:

perspective convergence

relative size

familiar size

atmospheric perspective

relative height

occlusion

Borderline cues:
Texture gradient
Shadows

Cues you can't use

motion parallax

deletion and accretion (by motion)

binocular disparity

convergence

accomodation
ANS:
For a sound source that is familiar and doesnicglfy vary in intensity, the intensity of the saliat the ear
can determine how far away it is. For examplesesicar alarms are always very loud, if you heagrgt v
guiet car alarm you can assume that it's far avastyer than a nearby nearly silent car alarm rigixt to
you. Another example is if you hear a the loudnsbof a mosquito, you can assume it's very near gaw,
rather than the more unlikely event of a very loumsquito far away.



54.

55.

ANS:

Weber’s law states that the detection thresholdidbt increases in proportion to the backroundtigvel.
A laptop screen gives off a relatively small amooitight which when viewed indoors is easily vigib But
on a bright sunny day, the background light is ssvarders of magnitude brighter, leaving the fixed
increment in lightness of your laptop below theed&bn threshold.

ANS:

LGN neurons in the visual cortex also have a cesueround organization. These neurons respond
maximally to a disc of light that just covers theigatory center. Similarly, we’'d expect a centarrsund
somatosensory neuron to be ‘tuned’ to the sizé@stimulated area of skin, with a maximum respavisen

the stimulated area just covers the excitatoryazent



